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1. Solve the equation below. Justify each step.
3k —3(3k—-2)=10

2. Solve the equation below. Justify each step.
—15x+ 9+ 6x = 36

Given

Given

3. Solve the equation below. Justify each step.
-3y+4=9y—-6

GIVEN

4. Solve the equation below. Justify each step.
15w — 24w+ 1) =w—65

Given

5. Solve the inequality. Show all steps. Put your final

answer in the boxes below.

3(2x—3) < 5x—27

6. Solve the inequality. Show all steps. Put your final
answer in the boxes below.
-3(x-5)<4

Solution

Interval Notation

Solution Interval Notation




7. Solve the equations, 8. In the problem below, explain the error.

7x— 6 =x+6(x+5) 6x —2(x —5) =22
6x —2x + 10 = 22
4x +10 =22
4x =32

7x+30 = x + 6(x + 5) x=8

9. Write the steps for each step of the equation.
3(6x—6) =4x+ 10

15x — 18 =4x+ 10

11x-18 =10
11x = 28
_28
11
10. Solve the equation below for A: 11. Solve the equation for b:
V =4nr?h

w=6a+5b




12. Solve and graph the inequality, Write your
answer in interval notation,

2x+6(3x—3)<7-5x
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13. Solve and graph the inequality (your answer
may be in interval or inequality form).

10x—7>130r—4x-2> 10

14. Solve and graph the inequality (your answer
may be in interval or inequality form).
-10<2x -8 < -6

15. Solve and graph the inequality (your answer
may be in interval or inequality form).
~11<5x-6<4

Name the properties below:

e Ifa=b,thenb=a.

e A=A

. Ifa=b,and b=c, thena=c.




18. Emily is saving to buy a new dress for the prom. She already has some money saved. She adds to this
fund with her allowance that she receives each week. The length of time it will take her to save for the dress
is modeled by the inequality: 20 + 5x > 125.

a. What does the constant represent?

b. How much is Emily’s weekly allowance?

¢. Describe the amount Emily will pay for the dress.

d. Solve the inequality. How many weeks will it take Emily to save enough to purchase the dress?

19. Bela is walking from home to school at a constant | 20. A tub is filled with water. When the stopper is

rate in feet per minute, Her distance to school is removed, the water drains at a constant rate of
modeled by: gallons per minute, This is modeled by 150 — 35x
d=3200-95m Interpret the following with units:
Answer the following and include units.
' 150:
How far does Bela live from school? 35:
X:

How fast does Bela walk? Can the value of x = 5? Explain:

21. Find three consecutive integers such that the sum of three times the smallest number and twice the largest -
number is 119.

Equation:

Solution

22. The length of a rectangle is 3 inches less than twice its width. If the rectangle has a perimeter of 84
inches, find the length and width. Let w = the width of the rectangle.

Equation:

Solution:

| 23. The sum of two consecutive odd integers is 104. Find the numbers.
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Test Review

1. Solve the equation below, Justify each step.
3k—3(3k-2)=10

2. Solve the equation below. Justify each step.
-15x + 9+ 6x =136
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3. Solve the equation below. Justify each step. 4. Solve the equation below. Justify each step.
—3y+4=9y—-6 15w-—2(4w+1?=w—6§
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3. Solve the inequality. Show all steps. Put your final
answer in the boxes below.

6. Solve the inequality. Show all steps. Put your final
answer in the boxes below.

X< -\$

G—w,’\%]

3(2x—3) < 5x 27 —-3(x—-5)< 4

Lx-9 ‘.5X2-'12'7 — X415 ‘LI{S :
-q4 - -\5 "o . ‘
x,;,q' +9q '—?; 2 =1 *@f‘x%w

rﬁ;@ 2 - 18 % =1 San|
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7. Solve the equations,
7X—6=x+6(x+05)

Mx-U = X+lX+30
Mi-lbo= '7x+30

a0 = (D Shlvtitn) |

7x+30=x+6(x+5)

6x —2x+ 10 = 22

8. In the problefn below, explain the error.
6x —2{(x —5) =22 <2y Ho = 22
(x - 5) X -2y

yx+ 1o =22

4x +10 = 22

x=8
\©

~lp -0
4y = 12
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9. Write the steps for each step of the equation.
3(5x—6) = 4x+ 10 Hiven
15x— 18 =4x+ 10  Wigke ootV

11x—18 =10

e Qo
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11x = 28
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10. Solve the equation below for A:
V =4nr?h . .
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11. Solve the equation for &:

w = 6a+5b
Lo — Lo

Ww-bo= S5b

-Lba = %k
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12, Solve and graph the inequality. Write your
answer in interval notation.

2x+6(3x—3)<7-5x
2%+ \3X-1¥ £ T-5«
20% -\8 £ T-Hx
Q% x -\¢ £ 7
95x % 25
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13. Solve and graph the inequality (your answer
may be in interval or inequality form).

10x—7>13_o|r-—4x—2>10
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14. Solve and graph the inequality (your answer
may be in interval or inequality form).

15.Belve and graph the inéquality (your answer
may be in interval or inequality form).
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Name the properties below:
e Ifa=b,thenb=2a. SYmyretic @Cogetb

e A=A feSlexive

. Ifa=b,andb=c,thena=c. “TCQnoTveL propx \,
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18. Emily is saving to buy a new dress for the prom, She already has some money saved. She adds to this
fund with her allowance that she receives each week. The length of time it will take her to save for the dress
is modeled by the inequality: 20+ 5x > 125,

a. What does the constant represent? Q0O $'ZD 'Y 60.V€d'

b.“How much is Emily’s weekly allowance? ¥ 5 .~ 20 +5x 2 128

>
¢. Describe the amount Emily will pay for the dress. “ + l Qs ﬁ\ 25 5:?"2 'IDS

d. Solve the inequality, How many weeks will it take Emily to save enough to purchase the dress? 2 | woels

19. Bela is walking from home to school at a constant | 20. A tub is filled with water. When the stopper is

rate in feet per minute. Her distance to school is removed, the water drains at a constant rate of
modeled by: gallons per minute, This is modeled by 150 — 35x
d = 3200 —-95m Interpret the following with units:

Answer the following and include units, ‘
' 150: ﬂummLchahmjlhns fub
How far does Bela live from school?ﬁﬂbb_ged

How fast does Bela walk? 95 5:’“6 N Can the value of x = 5? Explain: (O
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21, Find @consecunve integers such that the sum of three times the smallest number and twice the largest
——— *

number is 119. X, X+1|, ”q
Equation; 3& + Q( x-tZ) = ”q Sx gzx'i"’ul-‘- -n
Solution‘Q,Sa'_Q'-l= 95 5xx 335

22. The length of a rectangle is 3 inches less than twice its width. If the rectangle has a perimeter of 84

inches, find the length and width. Let w = thg width of the rectangle. 19‘-"
‘ w
Equation: (Qb'@ Lo <+ LQw-';‘)-&w :,8"] W -3
ow -l =24 WP g dwr

low =90

Solution:ig'-'- Lsig i L" er 0 w=\5 1 OL 6-> £

23. The sum o@nsecutive @negers is 104. Find the numbers,

X X+ X+2 = \oH

X+ Dx+2 = |0H
9% = \Da
X=95]
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